Multiply and Divide by Powers of Ten (A)

Find each product or quotient.

2,6 Xx0,01= 3,74 x 0,001 =
2x01= 6,9 X 0,001 =
1,5:1= 6,63 X 0,001 =
2,48 x0,1= 4,2 x 100 =
4,018 x 0,001 = 3,42 x 10 =
6,066 X 0,001 = 4,66:0,1 =
1,5x 100 = 49:0,1=
3,483 x 10 = 6,791:0,1 =
8,037:10 = 3,18 x 0,001 =
6,5:10 = 2,75:10 =
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Multiply and Divide by Powers of Ten (A) Answers

Find each product or quotient.

2,6 x0,01 =0,026

2%x01=0,2

1,5:1=15

2,48 x 0,1 =0,248

4,018 X 0,001 =0,004018

6,066 x 0,001 = 0,006066

1,5x 100 =150

3,483 X 10 = 34,83

8,037 :10=0,8037

6,5:10=0,65

3,74 x 0,001 =0,00374

6,9 X 0,001 = 0,0069

6,63 X 0,001 =0,00663

4,2 x 100 =420

3,42 X 10 = 34,2

4,66:0,1 =46,6

49:0,1=49

6,791:0,1=6791

3,18 x 0,001 =0,00318

2,75:10=0,275

Math-Drills.Com




Multiply and Divide by Powers of Ten (B)

Find each product or quotient.

7,8:0,1= 7:1=
9,22:100 = 6,9 X 100 =
53X 1= 54%x1=
89x0,1= 0,79 X 0,1 =
3,98 X 0,01 = 7,905 x 0,01 =
1,6686 x 0,001 = 1,059 x 0,01 =
1,431 x 1.000 = 7,254 %X 0,001 =
0,18 X 0,01 = 6,7664 : 100 =
9,508 x 1= 2,65x0,1=
6,341:10 = 9,1x10 =
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Multiply and Divide by Powers of Ten (B) Answers

Find each product or quotient.

7,8:0,1=78

9,22:100 =0,0922

53%x1=5,3

8,9x0,1=0,89

3,98 x 0,01 =0,0398

1,6686 x 0,001 = 0,0016686

1,431 x 1.000 = 1.431

0,18 x 0,01 =0,0018

9,508 x 1 =9,508

6,341:10=0,6341

7:1=7
6,9 X 100 = 690
54x1=5,4

0,79 x0,1=0,079

7,905 x 0,01 = 0,07905

1,059 x 0,01 =0,01059

7,254 x 0,001 = 0,007254

6,7664 : 100 = 0,067664

2,65 x0,1=0,265

9,1 x10=91
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Multiply and Divide by Powers of Ten (C)

Find each product or quotient.

1,3967:1.000 = 8,408:1.000 =
0,7539:0,001 = 3,8 0,001 =
8,836 X 1.000 = 7,665 X 1=
4,299:0,1 = 5,209 % 0,1 =
8,567 :0,001 = 9,7082:1=
4,6903 x 1.000 = 3,4%x0,01=
7,3291:0,01 = 4,233:0,001 =
4,76 : 0,001 = 4,796 X 0,01 =
6,3:0,01 = 7,337 X 0,01 =
6,619 X 0,1 = 4915 x 0,01 =
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Multiply and Divide by Powers of Ten (C) Answers

Find each product or quotient.

1,3967:1.000 = 0,0013967 8,408:1.000 =0,008408
0,7539:0,001 = 753,9 3,8 0,001 =0,0038
8,836 X 1.000 = 8.836 7,665 X 1=7,665
4,299:0,1 =42,99 5,209 x 0,1 =0,5209
8,567 :0,001 = 8.567 9,7082:1=9,7082
4,6903 x 1.000 = 4.690,3 3,4x%x0,01=0,034
7,3291:0,01 =732,91 4,233:0,001 = 4.233
4,76 : 0,001 = 4.760 4,796 x 0,01 = 0,04796
6,3:0,01 =630 7,337 x 0,01 =0,07337
6,619 x 0,1 =0,6619 4915 x 0,01 =0,04915
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Multiply and Divide by Powers of Ten (D)

Find each product or quotient.

8,681 :1.000 = 6,502 :1.000 =
533:0,1= 561:0,001 =
1,42 X 0,01 = 1,367 : 0,001 =
0,2x0,1= 1,09:100 =
5,01:0,001 = 1,5601:0,1 =
5,887 x 0,1 = 2,988:1.000 =
6,7:0,1= 5383:0,01 =
4,745 x 0,001 = 4,3579 x 0,01 =
1,5:1.000 = 6,618:0,01 =
3x0,01= 6,144 X 100 =
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Multiply and Divide by Powers of Ten (D) Answers

Find each product or quotient.

8,681 :1.000 =0,008681

5,33:0,1 =533

1,42 x 0,01 =0,0142

0,2x0,1=0,02

5,01:0,001 =5.010

5,887 x 0,1 = 0,5887

6,7:0,1 =67

4,745 x 0,001 = 0,004745

1,5:1.000 =0,0015

3x0,01=0,03

6,502 : 1.000 = 0,006502

5,61:0,001 =5.610

1,367 : 0,001 =1.367

1,09:100 = 10,0109

1,5601:0,1 = 15,601

2,988 :1.000 = 0,002988

5,383:0,01 =538,3

4,3579 x 0,01 = 0,043579

6,618:0,01 =661,8

6,144 x 100 = 614,4
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Multiply and Divide by Powers of Ten (E)

Find each product or quotient.

6,7989 : 1.000 = 3,2:0,01 =
1,135 x 1= 9 x100 =
1,03 x 10 = 3,332 x 0,1 =
1,2:100 = 1,7024 x 0,1 =
2,1:0,001 = 6,9471:100 =
6,1304 x 0,1 = 3,2:0,001 =
6,54 X 10 = 8,24 x1=
45x%x0,1= 8,26 X 0,001 =
1,94:10 = 6,65:0,001 =
6,9:0,001 = 3,9%x0,01=
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Multiply and Divide by Powers of Ten (E) Answers

Find each product or quotient.

6,7989 :1.000 = 0,0067989 3,2:0,01 =320
1,135x1=1,135 9 x100=900

1,03 x10=10,3 3,332 %x0,1=0,3332
1,2:100=0,012 1,7024 x 0,1 =0,17024
2,1:0,001 =2.100 6,9471:100 = 0,069471
6,1304 x 0,1 =0,61304 3,2:0,001 =3.200

6,54 X 10 = 65,4 8,24 x1=28,24
4,5x%x0,1=0,45 8,26 x 0,001 = 0,00826
1,94:10=0,194 6,65:0,001 = 6.650
6,9:0,001 =6.900 3,9%x0,01=0,039
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Multiply and Divide by Powers of Ten (F)

Find each product or quotient.

7,221 X 0,1 = 2,3493:0,001 =
6,1159:1 = 2,14 :1.000 =
2,2138:0,001 = 1,8 X 1.000 =
09,1728 X 1 = 5268 x 1 =
3,3:100 = 6,7:0,1=
3,7786 X 100 = 2,19 x 0,01 =
3,16: 0,001 = 0,3756:1.000 =
2,76 X 0,001 = 8,32 X 10 =
5,391 X 0,01 = 7,62 X 0,01 =
2,12:10 = 5,8045 x 0,1 =
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Multiply and Divide by Powers of Ten (F) Answers

Find each product or quotient.

7,221 x0,1=0,7221 2,3493:0,001 = 2.349,3
6,1159:1=6,1159 2,14:1.000 =0,00214
2,2138:0,001 = 2.213,8 1,8 x 1.000 = 1.800

9,1728 x1=9,1728 5,268 x 1 =5,268
3,3:100=0,033 6,7:0,1=67

3,7786 x 100 = 377,86 2,19 x0,01=0,0219
3,16:0,001 = 3.160 0,3756:1.000 = 0,0003756
2,76 X 0,001 =0,00276 8,32 x 10 = 83,2

5,391 x 0,01 =0,05391 7,62 x 0,01 =0,0762
2,12:10=0,212 5,8045 x 0,1 = 0,58045
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Multiply and Divide by Powers of Ten (G)

Find each product or quotient.

9,6 X 1.000 = 1,2x10 =
7,296 X 100 = 4,033 x 1.000 =
5,104 :1.000 = 7,8925 x 0,01 =
4,5074:100 = 59x0,1=
7,494 x 100 = 8,7x 10 =

0,31 x 0,001 = 1,462 X 0,01 =
1,9542:1= 3,53x0,1=
9,92 x10 = 5,616:100 =
6,3501 x 1.000 = 51712 x 10 =
1,5%x0,1= 1x1.000 =
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Multiply and Divide by Powers of Ten (G) Answers

Find each product or quotient.

9,6 X 1.000 =9.600

7,296 X 100 = 729,6

5,104 :1.000 = 0,005104

4,5074:100 =0,045074

7,494 x 100 = 749,4

0,31 x 0,001 =0,00031

1,9542:1=1,9542

9,92 x10=99,2

6,3501 x 1.000 = 6.350,1

1,5x0,1=0,15

1,2x10=12

4,033 x 1.000 = 4.033

7,8925 x 0,01 = 0,078925

59x0,1=0,59

8,7 x 10 =87

1,462 x 0,01 = 0,01462

3,53 x0,1=0,353

5,616:100=0,05616

51712 x 10 = 51,712

1 x1.000=1.000
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Multiply and Divide by Powers of Ten (H)

Find each product or quotient.

8,6593:1= 3,67 X 100 =
0,52:100 = 8,7x 0,001 =
6,261 X 0,01 = 6,73 X 100 =
2,8572:0,001 = 3 X100 =
2,55:100 = 1,9007:0,01 =
0,7:0,001 = 8,0504 x 1=
3,782 x0,1= 6,2409 x 1 =
2,3:100 = 1,89:1.000 =
3,5387 X 100 = 1,73 x 1.000 =
8X1= 3,5 % 1.000 =
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Multiply and Divide by Powers of Ten (H) Answers

Find each product or quotient.

8,6593:1=8,6593 3,67 X100 = 367
0,52:100=0,0052 8,7 x 0,001 =0,0087
6,261 X 0,01 = 0,06261 6,73 X 100 =673
2,8572:0,001 = 2.857,2 3x100=300
2,55:100 =0,0255 1,9007:0,01 =190,07
0,7:0,001 =700 8,0504 x 1 =28,0504
3,782 x0,1=0,3782 6,2409 x 1 =6,2409
2,3:100=0,023 1,89:1.000 =0,00189
3,5387 x 100 = 353,87 1,73 x 1.000 = 1.730
8x1=8 3,5 % 1.000 = 3.500
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Multiply and Divide by Powers of Ten (I)

Find each product or quotient.

3,75 x 10 = 7,2182 % 0,1 =
8,7572 x 100 = 5,26:1 =
7,68:1 = 5,1% 10 =
0,102 x 0,001 = 7,2:10 =
5,6:0,1= 7,99 x 1.000 =
1,8: 0,001 = 8,402 x 100 =
7,39 :1.000 = 4,3512 x 10 =
71:1= 6,91:0,001 =
2,831:0,001 = 7,9:10 =
0,069: 0,1 = 7,3:10 =
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Multiply and Divide by Powers of Ten (I) Answers

Find each product or quotient.

3,75%x10=137,5 7,2182 X 0,1 =0,72182
8,7572 x 100 = 875,72 526:1=25,26
7,68:1=7,68 51x10=51

0,102 x 0,001 =0,000102 7,2:10=10,72
56:0,1=56 7,99 x 1.000 = 7.990
1,8:0,001 =1.800 8,402 x 100 = 840,2
7,39 :1.000 = 0,00739 4,3512 X 10 =43,512
7,1:1=7,1 6,91:0,001 =6.910
2,831:0,001 =2.831 7,9:10=10,79
0,069:0,1=0,69 7,3:10=0,73
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Multiply and Divide by Powers of Ten (J)

Find each product or quotient.

53x100= 3,46 :100 =
8,35 x 0,001 = 3,169 X 100 =
5,7217 :1.000 = 0,9:0,01 =
0,9627:1= 0,68 X 10 =
5,6867:0,1 = 75X 1=
195x 1= 5,53 x 100 =
2,54:0,1= 2,79 x 1.000 =
1,1919:0,01 = 3,11:1.000 =
8,52 X 1= 0,8:0,001 =
8,36 X 0,1 = 2,6:1=
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Multiply and Divide by Powers of Ten (J) Answers

Find each product or quotient.

5,3 x100 =530 3,46 :100 =0,0346
8,35 x 0,001 =0,00835 3,169 x 100 = 316,9
5,7217:1.000 = 0,0057217 0,9:0,01=90
0,9627:1=0,9627 0,68 x 10 =6,8
5,6867:0,1 =56,867 7,5%x1=7,5
195x1=1,95 5,53 X100 =553
2,54:0,1=254 2,79 x 1.000 = 2.790
1,1919:0,01 =119,19 3,11:1.000 =0,00311
8,52 x1=8,52 0,8:0,001 =800

8,36 X 0,1 =0,836 2,6:1=2,6
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